MAC 1140 - Test 4 Practice



Name __________________________________

NON-CALCULATOR WORK:  
Given A = 
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Calculate.  If not possible, put undefined:

1)  A + B


2)  3B



3) AC
     


4) 
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 EMBED Equation.3  [image: image7.wmf]

 EMBED Equation.3  [image: image8.wmf]

5) AE             


6)  AD         


7) B + D


8)  B – 2A
Perform the following row operations beginning with matrix A and using your answer to each problem as the matrix for the next. (accelerated only)
9) –2R2 + R1 ( R1     



10)   R1 ( R2



11)  
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__________  12)  Given the matrix 
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  calculate the determinant.   

Show your work.
____________________13)  Given that the augmented matrix  
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  represents a system of 

                                             equations,  give the solution to the system of equations as an ordered triplet. 

14.  a.   Solve the following system using Gaussian elimination: 
x – 2y + 3z = 4

       
(Accelerated Only)





2x + y – 4z = 3


None accelerated use inverses and a calculator

-3x +4y - z = -2

On Problems 15 and 16, use Cramer’s Rule (determinants) to solve.

15.   2x – 3y = -4





16.  5x + 2y – z = -7

        5x + 7y = 1


       


       x – 2y + 2z = 0







 


    3y + z = 17

SOLVE using Gaussian Elimination:  (Don’t do this part)
17.  -2x + 3y – z = -1


18.  -2x + 3y – z = 4  


19.    x + y – z = 0
            x – 2y + z = 3
       

         2x – 3y + z = 1

                  3x – y + 3z = -2











       x + 2y – 3z = -1

20. Find the inverse of 
a) 
[image: image12]



b) [image: image13.png]10 -7
7 -10




CALCULATOR WORK. YOU MAY USE A CALCULATOR ON THIS PART:

____________________1)  Give the solution to the system of equations as an ordered triplet:
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2 - 3)  Given the system of equations:   
[image: image15.wmf]5231

3427

725

xyz

xyz

xyz

-+=

+-=

+-=-


__________ 2a)  Calculate det D 
__________ 2b)  Calculate Dy  (this is the bottom part when using cramers Rule)
_______________ 3)   What is the exact value of y in the solution to the system?

4)  Solve:    x  + y + z = 4
                -2x - y + 3z = 1

                         y + 5z = 9

 ANSWERS TO PRACTICE FOR TEST 4:
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  6.  Undefined    7.  Undefined

8.  
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     12.  –18     13.  (1, 3, 2)      

14.  (4, 3, 2)     15.  
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    16.  (-2, 4, 5)    17.  (x, x + 2, x + 7) or (z – 7, z – 5, z)  18.  No solution
19.  (-2, 5, 3)
 20. a) no inverse exists b) [image: image25.png]



CALCULATOR PART:

1. (3, 1, -1)    2a. –44    2b. –288    3. 
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   4.  { (4z – 5, -5z + 9, z)| z is a real number}
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